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Syllabus For The Year 2018/19 (Semester | & Semester 1)

Standard : 7th Semester-| Subject : English
Month | Unit Grammar Essay
June [1. Vini's Smile -Simple Past Tense A bicycle
-Inversion question
July 2. How Many Did You ? |Past Continuous Tense | Story Writing
-Wh...Questions in
Past Tense
-Conjunctions (and, but)
August | 3. Yes, | Will Use of May, Let, My favourite
Let's national
Simple Future Tense | leader
Inversion questions
September [ 4, Longer, Sharper, Degrees (Positive & My Best
Bigger Compartative) Friend
October Revision
Semester-lIl
Nov./ |1.Am 1 Lost ? Prepositions Visit To A
Dec. 2. Step By Step Simple Furture tense National Park|
January| Let's Read More — Our state
1. The Ganga Gujarat
3. Today Comes Simple Present Tense
Everyday
Febru- |4. Q. of - Simple Present Tense. |Navratri
ary Yesnoyesnoyesno |- Affirmative/Negative
Sentences
- Inversion question
Let's Read More
2. The art of
Whitewashing
March (5. Me Too ! -Wh..questions in A Soldier
- Let's Read More Simple present tense
3. Killer Plants

| |
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Paper Style for the First Semester Marks-80
Standard : 7th Semester | Subject : English

Que:1 Choose the correct option and write its index letter in the  (20)
[Jprovided againsrt each question

10 Marks textbook question answer +10 Grammar based

Que:2 (A) Fill in the blanks (Lesson based) (5)
(B) True or False (Lesson based) (5)
(C) Match A with B (Lesson Based) (5)
Que:3 (A) Read the following paragraph and answer the (5)
questions given below it (Lesson based)
(B) Answer the following questions (Any 5) (5)
(C) Data based question. (5)
(adv, visiting card, bills etc....)
Que:4 Do as directed (15)
(1) Make sentence
(2) Correct the sentence
(3) Arrange the words in proper order
(4) Tense Based question
(5) degrees
(6) Use of May Let, Let's
(7) 'Wh'in past tense
(8) conjunction
(9) Inversion question
(10) negative sentence
Que:5 (A) Complete the dialogue using words in bracket (5)
(B) Picture discription 4)
(C) Write an essay (Any one) (6)

Paper style for the Second Semester
Standers 7th Semester-l| Subject : English

Que:1 Choose the correct option and write its index letter in the  (15)
[Jprovided againsrt each question

5 Marks textbook question answer +10 Grammar based
=21 O
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Que:2 (A) Fill in the blanks using the word in brackets (5)
(Lesson based) (5)
(B) True or False (Lesson based) (5)
(C) Match A with B (Lesson based)
Que:3 (A) Read the following paragraph and answer the (4)
questions given below it (Lesson based)
(B) Answer the following questions (Any four) (4

(C) Answer the following questions (Lets's read more)
(

(D) Date based question.
Que:4 Do as directed

(1) Prepositions

(2) simple future tense

(3) Simple present tense (affirmative, negative & Inversion)

(4) Arrange the words in proper order
(5) 'Wh' question in present tense

(6) Tense Based questions

(7) Make sentence

(8) Correct the sentence

Que:5 (A)Complete the dialogue using words in bracket (4)

(B) Write an essay (Any one)

(6)

elRel-o wa 0vdia ualig) oiyolig U=duA  [Euy - VidY

Semester-|

§G JJe1-co

Q.1 Choose the correct option and write its index letter in the (20)

[Jprovided againsrt each question

(1) Who gifted abicycle to Tejasvini ?
(A) Tejasvini's father (B) Tejesvini's uncle
(C) Tejasvini's mother (D) Tejasvini's grand father

(2) When was Tejasvini's Birthday ?
(A) On 12th April, 2011 (B) On 13th April, 2012
(C) On 11th April, 2011 (D) On 11th April, 2012

(3) Where did Tejasvini go ?
(A) to the fun fair (B) to the river bank
(C) to the school (D) to the sea side

(4) Who came to the door ?
(A) mother (B) father (C) beggar (D) servant
.. 1

[]

[]
[]
[]
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(5) What did Gopal like to eat ?

(A) Jalebi (B) barfi (C) kaju Katri (D) laddu
(6) Who was Shivani's friend ?

(A) Nitu (B) Ritu (C) Mitu (D) Gitu

(7) What is Harry Patel ?
(A) a policeman (B) a salesman (C) a teacher (D) a mayor

(8) How many people did Harry meet yesterday ?
(A)one (B) two (C) four (D) three
(9) What had the king turned himself at last ?
(A) into a sparrow (B) into a crow (C) into a donkey (D) into a do
(10) What is the rhyming word of 'bought' ?
(A) catch (B) knew (C) cautght (D) sang
(11) What is the past form of 'blow' ?
(A) blown (B) blew (C) blowed(D) blewn
(12) What is the Gujarati meaning of 'unique’ ?
(A) UM (B) vy (C) x93 (D) ueud
(13) Give Symonym of 'tough'’
(A) easy (B) nice (C) difficult (D) boring
(14) What is the English word of ‘1%’ ?
(A) country (B) village (C) sides (D) kingdom
(15) What is the antonym of 'special' ?
(A) ordinary (B) unspecial (C) rude (D) basic

(16) Find out the correct spelling from the following
(A) formulla (B) formul (C) formula (D) formila

(17) How many tests did the king set ?
(A) four (B) two (C) one (D) there
(18) What is the comparative form of 'angry' ?
(A) angrily(B) angriest (C) angrier (D) more angry

(19) He was doing his home work
(Find out the verb form of past continuous tense)
(find out past continuous form)

(A) He (B) was doing (C) his (D) homework
(20) Find out the form of positive degree
(A) more beautiful (B) most beautiful (C) beautifuller (D) beautiful

D000 o0o000oo0oooad
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Q.2 (A) Fill in the blanks using the words given in bracket (5)
(shaking, twelve, magician, exchanged, poor, prince)
(1) The king was a
2) ReshmaandHarry_______ their visiting cards.
3) Tejasviniwas —_____________ year old.
4) The beggar looked very___________ and hungry.
5) Theleafis_____________ inthe wind.

) Write the following statements are true or false. ()

2) The prince heard about Gopal
3) Gopal roamed in the mountains and valleys
4) Mrs. Sharda Modi was a Mayor

(

(

(

(

(B

(1) Tejasvini's bicycle had a red button
(

(

(

(5) Longer Legs drank whole water of the lake

(C) Match A with B (5)

(A) (B)
Tejasvini's bicycle a) lives in Gandhinagar

(1) (

(2) Asma (b) a policeman

(3) Gopal (c) looked all around

(4) Mr. Jadeja (d) blue in colour

(5) The Sharper eyes (e) bought some fresh jalebis
Q.-3 (A) Read the following paragraph and answer the (5)

questions given below it

Sohansen was a prince. He had three Friends. Longer legs,
Sharper eyes and Bigger belly. Thgy has soecial powers. In that
land another king had a beautiful princess. Many young princes
hoped to marry her But the king, her Father did not want his
daughter to marry at all.
(1) What was Sohansen ?
(2) How many Friend has Sohansen ?
(3) Who were his Friends ?
(4) What did many young princes hope ?
(5) How was the princess ?
(B) Answer the Following questions (any five) (5)
(1) What did Tejasvini see on the roof of her school ?
(

2) Where did Tejasvini go ?
— O
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(3) Who troubled the people ?
(4) What is the name of the shampoo ?
(5) Where did Gopal hide himself ?

(C) Read the data and answer the following questions

Bill :- KISHAN PROVISION STORE

Name
Nehaben Paresh

Cash Memo
Date : 18-4-2019

No ltems Weight Price
1 sugat 5 Kg. 200
2 Coconut oil 1Kg. 120
3 Rice 4 Kg. 224
4 Sal 2 Kg. 90
Total 634

—~
—_

— o~
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= O = = —

—
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(©)

(D)

What is the price of sugar ?
What is the total amount of the bill ?
How many items are there in the bill ?
When did Nehaben buy these things ?
What is costlier than sugar ?
Do as directed
Make sentence from given word
---breakfast

Arrange the words in proper order and make meaningful

sentences
---In smiled she at the herself mirror

Change the sentences in to past tense
(1) They go to saputara every year
(2) Neha is doing her work.
Make inversion questions.
(1) The peon rang the bell
(2) Nema will sing a song
Make question using the word given in the bracket
(1) The chief guest hoisted the flag (Who)
(2) Manojbhai distributed books (What)
1

(15)
(1)

(1)

()

()

()
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(F)  Join the sentence using and or but
(1) You can go there. You can play there.

(2) He ran fast. He could not catch the bus.

(G) Change into positive degree
(1) Neha is more beautiful than Sarita.

(H)  Change into comparative degree
(1) Shyam is as smart as Ram.

)] Correct the sentence and rewrite it
(1) Hiral will buy a car yesterday.

J) Use let or let's
(1) Do our work.

(2) Monika sing a song.

Q.5 (A) Complete the dialogue using words given in bracket
(few, where, will, some, good afternoon, market)

Rashmi : aunty
Radhaben : are you going ?

Rashmi : are you going ?

Radhaben: ________ youbring_—_____sugar for me ?

Rashmi : yes, why not ?
Radhaben : thank you

(B) Describe the picture in your own words.

()

(1)

(1)

(1)

()

(®)




(C) Write an essay (any one) (6)
(1) My Bicyle
(Colour of bicycle -description of bicycle- use of it- prevent pollution

-it is used for better health-not to much expensive-easy to carry -
conclusion)

(2) My Favourite national Leader
(Name of national leader - date of birth- achievements-
works for nation-why does he/she is your favourite )
OR

Write a story from given clues and give suitable title
Once a dog found a bone-held in mouth-crossing a stream-looked
into the water - thought another dog in the water-barked-bone fell
into the water-lost the bone
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Q.1 Choose the correct option and write its index letter in the (15)
[Jprovided againsrt each question

[]

(1) Who is an infantry officer ?
(A) Maijid Khan (B) Moin Khan (C) Mohsin Khan (D) Mohin Khan
(2) Where do the soldiers live ?
(A) in barracks (B) in passages (C) in grubs (D) in rooms
(3) What will be the total distance between Kalupur and Thaltej
Crossing ?
(A) 10.90 kms (B) 90.10 kms. (C) 10.19 kms. (D) 19.10 kms.

(4) Where did Laxmi ask Faizan to walk on ?
(A) road (B) mountain (C) kedi (D) ground

(5) When does Shiv go to bed ?
(A) atten o'clock (B) at around eleven o'clock
(C) at nine o'clock (D) at twelve o'clock

(6) Find out the word of Past continuous tense
We were playing on the playground
(A) were (B) were playing (C) playing (D) playground
(7) What is the Gujarati meaning of 'Path’ ?
(A) 253l (B) L (C) vlla (D) §o1R
(8) Which is the correct spelling ?
(A) Kingdom (B) myrror (C) home work (D) wondar
(9) What is the rhyming word of 'blew' ?
(A) blow (B) flew (C) crow (D) draw
(10) Write the antonym word of 'brave' ?
(A) coward (B) kind (C) Cruel (D) Sad
(11) Fill'in the blank with appropriate option Kavya and Rudra
usually carrom
(A) playing (B) plays (C) played (D) play

(12) Replace the underlined word with the correct synonym word |:|
The pig looks ugly.

(A) fair (B) nice (C) unattractive (D) beautiful
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(13) Fill in the blank with proper preposition Ravi is an officer |:|
a big company

(A) on (B) about (C)in (D) over

(14) Find out the correct sentence |:|

(A) She brush her teeth (B) She brushs her teeth
(C)She is brush her teeth (D) She brushes her teeth

(15) What is the English word of wilat ? ]
(A) experience (B) expense (C) expire (D) experiment

A.-2. (A) Fill in the blanks using the words given in bracket (5)
(Governing body, honeydew, Gujarati, transport, be angry,
traditional, English.)

(1) The ants train the greenfly to give

(2) We need a good facility

(8) Men and women wear ___ Guijarati attire

(4) Faizan was not able to understand
(5) The robot will never with the children

A.-2 (B) Write true or False (5)

(1) The banyan tree was called bhutiyovbad
(2) The Megha trains will run with drivers

(3) An anthill has many passanges and rooms
(4) Shiv checks e-mails after lunch

(5) People illuminate the ground with flowers

A.-2 (C) Match A with B (5)
A B
(1) river bank (1) They killed each other
(2) giants (2) Policeman
(3) Harry Patel (3) Sohansen
(4) Prince (4) rough
(5) Mr. Jadeja (5) salesman
A.-3 (A) Read the following paragraph and answer the (4)

questions given below it.

The queen ant lives for about 15 years It lays eggs. Eggs are
hatched and grubs come out. soldiers guard them. Workers feed
and clean them. They also carry them for exercise and sunshine
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